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Stem of the question

Nam¢ any three elementary signals and sketch them,

! 133

2 Define a system, 2 1 } - 13%h
3 Write the relationshjp between €Xponentia] Fourjer series and | 5 2 1 - 124142
trigonometric Fourier Series,

4. | Define trangfer function, e e e

S: 2 1 2 L2312

6. 2 2 1 1,2,3,12

7. 2 2 3 12312

8. 2 1 3 1,2,3,12

9. 2 1 4 12312

10. 2 1 4 12313

Part-B (5xg « 40 Marks)

11. a) | Determine Whether the signal X(O)=<2() is an CNCIgy signal or power B el o sy 2,3,12
signal or neither bower nor energy signal.

b) Using appropn'até €Xamples, explain about classification of systems. 5 2 £ 12a

12. a) Determine the trigonometric Fourier serieg for the Waveform shown 5 3 L 52540

below:

)

Cond.., 2
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Write the properties of Linear Time Invariant (LTI) systems. 1,2,3,12

State the sufficient conditions required for existence of Laplace transform 1,2,3,12

of a continuous time signal.

5 s+3
Determine the inverse Laplace transform of the signal X(s) = m

with Region of Convergence (ROC) as Re(s) > -3.

4 31 12312

Check the properties causality and stability of the system y[n] = x?[n]+| 4 3 3 12312
. :

x2[n-2]

State and prove linearity and time shifting property of Z transforms. 4 2 3 123,12

Determine convolution of the signals x(t)=eu(t) and h(t)=u(t-1) - ut2). | 4 3 4 123,12

Determine the correlation of the signals h{n]= {4,2,3,1} and x[n]={-3,3,4,- = 2 4 12312

43.

Check the propertics linearity and time invariance for the system with | 4 3 1 123,12

equation

y(t) = at’ x(D)+bt x(t-5).

Determine inverse Fourier transform of the signal X(w) = '(_2%?5)_2 4 3 1 12312

Answer any two of the following:

State Sampling theorem and obtain the condition for sampling of a
continuous time signal such that the signal is recovered without aliasing.

Determine the impulse response of the discrete — time system with the
difference equation

y[n] = x[n] — 3x[n = 1] + %y[n -1] - %y[n - 2] when the system is
stable.

Determine Energy Spectral Density of the signal x(t)=e*u(t). 4 3 4
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